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.) Find the average rate of change of f fromx=1tox=3. S
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b) Find an equation of the corr GSpondmg secant line. <
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c) Sketch fhe g graphs of f an can me
Fo- <oy et 1 -]
d) Find the instantaneous rate. of change at x=4. = A

i 3( — (n — 2 ;~
(:/C\) hn;z) x¥ ) +h) (3x-x2) = 3_%.)\. ("(L’r)/ 3-72(Y)= 2 )

e) Write the equation of the line tangent to
me=5 ph (- t) [yrd = -5 (x-) |
f) Sketch the graph of the tangent line on the same axes as pal‘t g,
A= -5k
2) Determine the average rate of change of f(x)= Jx+1 over the interval [0, 3]
A -3 B. -1 . C. % % E. 3
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**%%%Yeg this is multiple choice, but still show your work here*****
)+ a1 1
3 —0 3 2

3) Which of the following ﬁ‘r’l an equation for the tangent line to /' (x) = 9 — x* atx =27

Ay+5=VYi(x+2) B.y-5=4(x-2) y-5=-d(x=2)D. y+T=—4x+2)  E. y+5=-4(x+2)

**k**Yeg, this is multiple choice, but still show your work here***** , ‘
Pilx)= lim 9- (Mh)?,(‘q 52 = hm @5 -9 b (- 1x~h)= -2,
l h20 hoe N P\ao X
Fl12)= - 2(2) = - Hercpe bk (2,5)  y=5= —w(x-2)
4) Letf(x)=2x - X .
a) Findf(3) 2(3)— 3 \.,__g
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b) Find /(3 + 11) J (3..‘-1,\) — (’5_‘,[,_1)2' fand GCv2 W — OI - (C‘*\ ~hh =

¢) Findf(3+h)-f(3) «3-th-hZ--(-3) _ F - |
h h
d) Find the instantaneous rate of change of fatx=3. limn —y- l»\) m
24,

e) Write the equation of the line tangent to the curve at.
m=— (3, '3) [j*i':") -—w(x 3))\
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) Write the equatlon f the line normal to the cuM— 3.
M= gb5,-3) yr3=u (/5\
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